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o M| 449 Zo| 0| 250 H| 31 7| CHAICHEE(XHEAENE), SUHAA(E2EHAN), AtEHSH
O|YUGSHEALA (R, HSSEHS 012 Enxt gt
1. HEXNSH =
(1) ¢& NHEYEE
H 317] 2016 12€ 31 Xy
H 307] 2015 12€ 31 Xy
L7l O 3571Y (CtQ| - HHOtRLY)
A= H31(F)7 | M 30(H)7 | &
PN
(1) FSXHAt 8,159,320 5,922,940
1. AZUAZ G 156,148 186,201
2. O|XI= 249,784 202,003
3. D= XHE S D |EF A 2,419,303 1,889,800
4. OIS 103 3,138
5. B2 E8HE 85,414 23,759
6. GI1EARANMXE S XL 3,041,198 2,377,741
7. IS EF 8L 11,529 5114
8. Ch7|OHOZ XAt 2,122,711 1,176,998
9. 7|EF RS XLt 71,573 47,091
10. R{DKpAE 1,050 11,096
11, OH2FOf - REAE 507
(2) HI G SXHA 1,385,296 911,723
1. &7It02 1,968 2,338
2. BH T LEXL 170,234 130,398
3. 2728 E 159 161
4. l=Itsa Rt 562,262 185,255
5. Q|2 S 28Xt 4,375
6. EXE S 304,560 234,441
7. Q™A 227,461 246,015
8. FYXtAL 99.122 98.469
9 J|EF2 LKA 5,111 3,972
10. O H 1 QUM|X|AE 10,045 10,674
XS A 9.544.615 6,834,664




HAHE M= M31(F)7 & X30(H) 7|
1. S XH
(1) F=5M 7,627,245 5.096.736
1. ORI [EFXHE 333,535 352,774
2. HI|0= 85X 173,902 54,304
3. G71ElAX|EZ 8 684,342 272.227
4. 0|2 4,190,917 3,279,098
5. IS 9,745 4,361
6. THOIXHS 2,112,876 1,013,302
7. 7Bt s 86,012 67,557
8. UM 35,914 53,112
(2) Hl RS XH 309,802 290,357
RSP 100,304 100,126
2. E[Xg & 1,409 10,865
3. O|HRHQIMIE XK 90,347 73,602
4. QASHXE 94,232 83,463
5. 7|EtH| RS 23511 22.300
e el 7,937,047 5,387,093
Il Xpe
(1) X2 = 22,433 22.433
(2) Ar2dog 241,994 238,238
(3) Xt2|FA 3 J|EtX 2 (21,620) (17,252)
(4) 7[Bf L&A A (11,733) (2,907)
(5) 0|2y oZ 699.888 610,144
XH21E AR F X2 930,963 850,656
H|X|HH X| & 676,606 596,914
XHESAH 1,607,569 1,447,571
SR ES A 9 544,615 6,834,664
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B 2016 128 31 7HX|
B 20159 128 31 7tX|

(Ergl : woke))

AE a5 H31(H)7 H|30(H)7|
. &Y 1,153,420 1,038,502
Il OHE 7t (673,333) (567,708)
. 01=50(< 480,087 470,794
IV, TrOfH|Qf2t2|H] (226,674) (210,305)
V. g2io|9] 253,413 260,489
7|Ef<] 13,158 27,901
J|EtHIE (10,537) (12,644)
=8+ 1,165 993
=87t (5,590) (5,228)
Xl2¢ol 10,543 11,975
AE2Hs4 (1,319) (411)
VI, HRIMH A XA LS Yo 260,833 283,075
HE S AHRUMH[E (69,055) (80,487)
VIl A& F 0| 191,779 202,588
VIl SEtF 0[] 199 31
IX. @7[&0| 191,978 202,619
X. 7|EfIE 2ol
SEMOZ ¢ )|200Z JE2E & Q==
SHRIAT A Q| 2F2HAKLO 1,176 (2,697)
H=ots a3 8RN EI &2 (17,514) 5,778
XA tEHE 160 (785)
SEXOoZ G0 Z INEFL X e o2
CIESI=JO PN el PN E=PSEOES (625) (1,635)
J|EfEZECl0| BHA| (16,803) 661
XI. ZZ 20| 175,175 203,280
S 7|2=0]2 9| F&:
X[Hi 7| d L R=KE 97,507 103,073
| X[8f X[ & 94,471 99,546
ZI20[Q9| P&
N[ PR ENE N 88,321 101,478
H| X|Hi X|& 86,854 101,802
NURE = go][e]
712 9 5| FHAHEFH0[(#) 2,249 2,382
712 S 5| FH0|Q(R) 2,254 2,382




(3) A& X=¥s
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20169 12€ 31 € 7K
20159 12€ 31 ¢ 7K

ECHR71sn O 3571 (T - SHor
Xp7|=AY 7| EpEa£0] X|E 7| ¢
A Y= eI REYNI ;||E?5:r§ 'EL% Ve i%l’r!.‘—Jlil—E- HIXIEHRIE | B
2015.01.01 22,433 244,330 (17,627) (2,404) 513,352 760,085 489,990 | 1,250,075
A@Emasol:
YIl=0|d - - - - 103,073 103,073 99,546 202,619
MHE=ts38RHHEI - - - 2,826 - 2,826 2,951 5,778
e 2HS - - - (893) - (893) 108 (785)
SHRIAMIK QlatetAtkLO| - - - (2,437) - (2,437) (260) (2,697)
HFOHHEMEHQ A - - - - (1,092) (1,092) (543) (1,635)
E| - - - (503) 101,982 101,478 101,802 203,280
Kol 2 QlAE
F3010| Heff:
XS - - - - (5,625) (5,625) - (5,625)
Z&7|Y X|REE S - (6,178) 399 - 435 (5,344) 10,615 5,271
BHI|YRS - 85 (23) - - 62 (291) (229)
bl - - - - - - (5,201) (5,201)
2 A - (6,092) 375 - (5,190) (10,907) 5,122 (5,784)
2015.12.31 22,433 238,238 (17,252) (2,907) 610,144 850,656 596,914 | 1,447,571
2016.01.01 22,433 238,238 (17,252) (2,907) 610,144 850,656 596,914 | 1,447,571
ABS &
gIl1=01d - - - - 97,507 97,507 94,471 191,978
M=Itsa XA EI & - - - (9,151) - (9,151) (8,363) (17,514)
XEextEHs - - - 176 - 176 (16) 160
SHRIAM A Qo ehArXtO] - - - 149 - 149 1,027 1,176
SESHH=ME QA - - - - (360) (360) (265) (625)
EN| - - - (8,826) 97,147 88,321 86,854 175,175
ol 2 QlAlE
F30k0] Al
SRS - - - - (6,490) (6,490) (7,987) (14,477)
Z4I|Y XRHE S - 3,446 (2,110 - - 1,336 3,078 4,413
AEHRAS HE - (14) (895) - (913) (1,822) (1,061) (2,883)
TALMERROl 20 - - 153 - - 153 - 153
FAIME O HAL - 324 (1,516) - - (1,192) (1,191) (2,383)
E - 3,756 (4,369) - (7,403) (8,015) (7,162) (15,176)
2016.12.31 22,433 241,994 (21,620) (11,733) 699,888 930,963 676,606 | 1,607,569
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(B9 : wigrel)

=

AHHE = H31()7I X30(H)7|

| U SHESE

1.97]1&0(¢ 191,978 202,619

2HZYEo =F
EXZH 6,691 6,400
2] 13,286 13,602
EXHRE STt 2t| 2,960 2,740
P AR L2 18,229 17,628
Qlztetitole] (4,176) (17)
QoAb A 2,378 29
THAOXPATH 7 | & 4 - 1,930
CH&42H| 12,264 2.598
7|EOICH & 2] 1,497
IAIEAI-[:”_Q_ ]53
|l AF R A E &0 546 (10,583)
=rtsg8AtitateE ol (46,450) (1,002)
OH 2} Of 'S K -2 012 (1,182) -
OH 2 Of Y RHAH T O A 493 -
X2gHaA 1,319 411
X|&Hol< (10,543) (11.975)
g =2+ (10,907) 25
HAHI | HEX T A HE 0| (813) (14,719)
A LEX T AN EEA - 256
&7 UEXME0(Y (6,064) -
[AXHE0 (34) (15)
AR HEEA 60 13
[AXA V| & A 133 -
SAXLHE0(< (5) -
SN EEA 1,222 -
SHXpAZ oA A - 30
NN S PN 594 1,645
EXtEE AN E0|Q (95)
EXE SAEdKtE 995
Erea 217
O|XtH|E 61,850 5,228
O| Xt~ (195,485) (993)
HOIMH|E 69,315 80,496

Nl (81,552) 93,725




AE 5 H31(F)7I X30(%)7]
32Kt =F
TH O XEAE 8,970 (3,032)
O=xH 18,454 (7.934)
CHEXHH (312,854) (65,323)
ol+=2 42,710 202,497
ol Xz (47,781) 6,816
7|l XA (431,123) (732,065)
CHO|OHO 2 8 KFt (894,725) (754,218)
OH S SR (6,234) (4,342)
J|EF-S XAt (32,086) 854,582
7|EHH[F-S XAt (627)
CHO|OO 2 8 & A 232,089 20,772
o|1EIAF 2 XY 531,713 215,262
OH& &2 X 5,384 3,955
O UXHF (13,177) 5,776
SIPNE==s (25,733) (160.039)
Bt RS 394,040 (4.279)
E[XZ oK (3,776) (3,800)
7102 YN (15,631) (2,918)
2 A (550,389) (428,289)
O|XtQ| =~F| 204,394 1,035
O|Xto| X2 (57.441) (4,790)
g =2 =7 11,014 5,106
HolMo & (74,036) (30,804)
FALME A (1,409) -
AHFSOZ QS =25 (357,441) (161,398)
EXesd3asE
AMYSEZ Qo g R 14,139 -
FAXLLS| HE 2,287 3,215
KA FE (12,346) (11,092)
SIS HE 2,697 710
SIS FE (7,628) (20,274)
EXRE Sl HE 2,287 1,567
EXE SO FE (9,016) (5,215)
SEIIEEX HE 14,729 -
SEI|UEXL] F= (103,610) (229)
HAHI|HEXS H&E 45,734 37,448
HHPIEEXS| FS (76,241) (51,031)
28 Eel &a 24,300 130,414
tIZ8EEel 37t (85,689) (96,650)
T2 2| tHo (4,740) (4,760)
T2 9l 3l 7,775 2,715
HIItHAHZ 9| tHo (173) (365)
HOItHAHZ 9| 3 543 1,001
=rtsa8XMtel S (506,646) (104,112)
H=Jts=28AKol HE 153,800 4311




A E O 5 H31(F)7I X30(%)7]
I ERSEAHIC FHE (300) -
FI|EARIAFERRAO] F S (138,195) (54,914)
7|l AF ROl HE 43,151 41,007
J|EHHI R S5 X2l 7t 4,436 243
J|EtH| RS9 &A (2,250) (9,492)
7|EHHI SRS St (1,685) (2006)
7|EHHI G S XAl 2 A 877 1,430
HII28EES LA 3 -
MY OZ Qlot =H2SE - (5,152)
EXZE0Z Qlst =3gas s (631,764) (139,431)
Il HELSASSE
CHOIXtIZ9l Bt 9,141,180 337,626
CHOIXZ29el 44 (8,615,608) (146,214)
HOIXrd=9 Bt 33 110,450
HIXUZ e Za - (10,851)
RS ARl 2 A - (12,800)
SR HS =] Bt 404,926 -
TXLEED [N S| & 50,000 -
g =2l Xlg (14,477) (7.292)
HIX[HEXXHE XS] &5 2 (13,300) 49,647
HIX|HH X[ 22| =54 73 -
SEI|EARKEES 4,413 5,163
NEESOZ Qs =258 957,239 325,729
V. AZUAS GO BIHE L) (31,965) 24,900
V. QBtHA| AFUAZ G| steH s 21t 2,142 9)
VI, SH2IAFA=HXLO| (230) (4,720)
VIILZ|E sia Ao gRat 186,201 166,029
VI 7|2 AS 2GR 156,148 186,201
(5) S1& FM Arg
-32 16 Y MXIZAA| A (http://dart.fss.or kr)Ofl 2A|SH TALS] HAZAIE DAl &X
-38 24 HIIFE HEEA0 Ex HX[E HZUAIEDAM E=x
* AT HENESHS HIIFFE3| 50 140N HE E = JAELICH



2. E=XENIE

(1) XHF-SEHE

X 3171 2016 12& 31 L XY
XM 3071 2015 12&8 31 XY

ki (B9l - are))
A ™Y = H31(Z)7 X30(H)7]
| Kp &
(1) FSAA 143,403 220,301
1. AZUAZ G 4,645 58,870
2. IN=AHHSU D |EF A 33,123 65,984
3. HoItHo = 66 3,108
4. HI28EE 101,239 60,350
5. 7|EFR-S ARt 2,814 20,915
6. THOXAE 1,009 11,074
7. OHZHOf XAt 507
(2) HIg-SXAt 560,113 525,563
1. &7 oS S Ve - -
2. 27|t = 1,876 2,338
3. SH|EEX 193,454 168,024
4. HHI | HEXL 45,505 28.870
5. 87|28 EE - 3
6. H=Itsa ALt 36,071 47 421
7. EXtRE S 182,922 152,607
8. SYXA 80,026 102,702
9. FHALE 17,875 21314
10. 7|EfS XAt 1,786 1,795
11. 7|EtH| S SXHA 598 489
NN 703,516 745,863
Il & XH
() Fs5FM 97,295 155,299
1. OHLXHE S 7 [EF RS 17,110 33,876
2. EIIXUE 59,900 90,900
3. et M 16,583 25,640
4. I |HOIMIE Y 3,702 4,882
(2) HRs5X 118,659 119.863
1. ARXY 99,775 99,630
2. =2 ™G HEN - 1,669
3. O|HRHQIMIEXH 14,747 12,823
4. 7|EHH| R 5XY 4,137 5,741
SEXEA 215,954 275,162




A E o = H31(F)7 = X30(X)7|1Y

. Xt &

(1) X222 22,433 22,433

(2) Ao Z 178,513 178,513

(3) A7 |=A (9,154) (9,154)

(4) 7 |EF 2l = A ol (770) (66)

(5) o|joZ 296,540 278,976
XtEEH 487 562 470,702
2 X1t XHESAH| 703,516 745.863

(2) ZEEFA LA

M 312120164 18 148 2016E 12€ 31 7K
H30712015¢ 18 198H 20159 128 31 ¥ 7K

FLIRI|E (THQ : wyarel)
A ot = H31(F)7I H30(H)7|
. |JH*OH 214,672 240,112
||. U=t (175,753) (202,670)
I1.041= 502 38,919 37,442
IV ZHOfH|QF 22| (16,912) (18,309)
v, F2l0]9 22,006 19,133
7IEr*°' 22,534 24,738
7|EHH]|E (10,381) (12,944)
a9 40| 1,544 1,267
287} (4,487) (3,876)
VI, HOINH| S X2 T A& F 0|2 31,216 28,318
A& S UHRIMH|E (7,295) (9,453)
VI, HS5F ol 23,921 18,865
VIILETtg o2l 199 31
IX. & 7|2=0]< 24,121 18,895
X. 7|EfIL 2ol (771) (413)
SENMOoE G0 R HEgRE = U= ¥s
H=rtsa8XtEotEel (HolNautktd <) (704) 170
TAHOR Y2902 HERLX| Y U2
HEFHMEL| THEFZaA (HRIMR A S) (66) (583)
XI. ZxZ0|Q] 23,350 18,482
Xl Z=g=0l
712 Sl gl FEAHES 0| 553 436
712 ol 5| FYEHFU0|(EA) 5 ]

- 10 -



(3) OIYYOIFHEAHLM(RH)

H 317120164 1€

2016'F 12€ 31 ¢ 7K

1 25E
H30712015E 18 1L8H 20159 128 31 ¥ 7K

@CR71E (Cro| : watel)
AHE o= H31(E)71E HI30(X)7 1
|. OIHE01YAAF 286,762 269,847
M7|0|HO|HE0|dNF 262,708 251,535
g71&0]9 24121 18,895
2 HG0HE o IHEFQA (66) (583)
Il. O] Yo HEH 11,898 7,139
O|lel=Hla 1,082 649
HiE =
(U S(UTHET E) :
S 7]+ 2509 (50%) 10,817 6,490
M 7] 150 (30%)
1. Xt2]0] 80| X209 YA = 274,864 262,708

d71 o|dYEe g7l M2 o

Y2 2017 38 24 LO|H,

7| HE HUS 2016'H 38 25 LO|UELICH.

11 -




(4) A2HSH

312120164 1€ 1
M 307120154 1€ 1

HH 20164 128 31 Y 7HX|
ISE 201549 12€ 31 ¥ 71X

ol
=

(o]
=

@R 7= (THY - diare)
R ez xeeed | aoiEa | TEEES | oeigers &
o |

2015.1.1(&t n=20f) 22,433 178,513 (9,154) 236) 266,283 457,844
g7)20[Y - - - - 18,895 18,895
J|ef &l

DHE%S—S%IWE*?%% - - - 170 - 170
SAHFOHH O HEZA - - - - (583) (583)
EZZo|9 — - - 170 18,312 18,482
XS - - - - (5,625) (5,625)
2015.12.31(X7|2) 22,433 178,513 (9,154) (66) 278,976 470,702
2016.1. (212 9) 22,433 178,513 (9,154) (66) 278,976 470,702
g71z0/9 - - - - 24,121 24,121
J|EtEE A
HEIHs 28X EI &9 - - - (704) - (704)
SHFOHE HEHQ A - - - - (66) (66)
SXZ0|Y - = - (704) 24,054 23,350
XN - - - - (6,490) (6,490)
2016.12.31(7|2) 22,433 178,513 (9,154) (770) 296,540 487,562
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317120164 18
H 307120154 1€

1
1

ULE 20164 128 31 7tX|
UEE 20154 12€ 31 7HX|

i (B9l - ate))
A E o = H31()2I X30(H)7]

| U S=SSE

1. @7|=0[¢ 24,121 18,895
2. HHIYZ9 =

EXg 2,461 2,702
22| 2,174 2,507
EXtE sS4 42| 1,310 1,033
S AR A2 2,070 1,319
SR EA K E 440 704
CH&=42Hd| 384 503
7|EOICH &4 2] 1,197 2,060
Q|3tztAtol 2] (15) (17)
QlotetitE Al 122 29
=7tsa8AH &0 (1,070) (1,170)
Ertsa 8 A IHEE A 469 64
ZHH 7| HEXF AN 202 - (14,366)
SE57|YEX T AN E0[2 (9,147) -
OH 2Ol 'SR =202 (1,182) -
OH 2 Of FRpb b A K 493 -
KX 20]< (11) (3)
AN ENPS I~ 3 -
SR D[ &4 85 2
EXR SAEAK S 534 -
FAEX 202 (5) -
SN EEA 15 -
O|Xt=< (1,544) (1,267)
O|XtH|E 4,487 3,876
A 217 -
g =2+ (8,614) (5,307)
HOIMH|E 7,555 9462
Eg | 2,428 2.129

3. RUXES = H
THO XA 10,065 (1,099)
OHExH2 17,128 (4,974)
0l=2 (8,091) (4,133)
J|EFRS XA 332 1,334
NEIESEE PN, (5,800) (2,300)
E|XZ9| X|& (48) (1,032)
O 4 XHS (13,241) 5,659
NIPNI=2ss 1,143 5,970
J Bt 1,418 1,656
A A 2,904 1,081

- 13 -



AE o= H31(F)?I H|30(F)2|
O|Xto| =7 1,225 1,162
g 22l =+ 8,109 5,307
HolMQl & (7,735) (6,092)
O|Xte| X2 (6,794) (3,932)
FUHSOZ Q% =25 & 24,258 18,552
| EXr2ZSHESE
AMAZOZ Qv R URE) 248 (4,671)
AtS =2 QIS g/ Y 14,139 -
FIXAO| K& 61 75
[ FE (5,763) (1,843)
SRS K& 187 -
SRS FE (2,293) (1,558)
EXE S HE - 252
EXR SO FE (5,687) (5,745)
SEI|EEXL HE 10,798 -
SEI|LEXL] F= - (1,960)
ZH I | HEXS] M - 15,931
A HEX] FE (9,366) -
=Ttsa8AAel HE 9,707 5,854
H=Ttsa 88Xl = (6,434) (44,060)
CH 28489 L4 60,350 120,323
tIZ8EEe St (101,239) (126.150)
Tt Z 2l 3l 7,690 8,241
CHI|CHoiZ29l tHo (4,648) (10,504)
HIIZ8HES LA 3 -
HoItHoF el 2=+ 543 1,110
729l o (143) (474)
J|EtH| SRS 2 A 990 1,936
J|EHHI G- SXHAe] Bt (1,680) (656)
J|EHHI R S5l 7t 1,598 640
J|EHHI G Sl A (2,527) (371)
o2 Qg vigo| LA (7,500)
EXESOZ Qo &3EdSE (40,965) (43,630)
Il IHELSAZSSE
g =22l Xlg (6,490) (5,625)
CHO|XtZ2l 7t 13,000 101,000
CHO|XtZ9l 44 (44,000) (138,000)
O = MEHI|EAHO| ZhA - (12,800)
ARRY 2 - 99,573
SEI|LUEX A FHE - (8,110)
HEHSOZ Qs =31aSE (37,490) 36,038
V. AZEUAZT GXAO| SIHZA) (54,197) 10,959
V QIBtHEA| g U GR Aol eteHsant (29) 9)
V7| S GR 58,870 47,920
VILZ | S ea XA 4,645 58,870

- 14 -



(6) =M ARt
-3 8 16 Y MASAIA|AE (http://dart.fss.or.kr)0| SAISF SAIC] ZALE A A X

-3 8 242 YIRS HEZA0 B HIXIE AR HE

* A0 MEHBESHLS HIIFFES 52 HoM HE E = ASLICL
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